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3 data = xlsread('/Iris.csv');
1+ x = [data(:, 4)'; data(:, 5)']; % I
5 n o= size(x, 2); % A

6 ¢ = ones(l ,n); % K, 1« /Ksetosa, 2K RN versicolor, 3F /Rvirginica
7 theta = [1.462 4.26 5.552 % mul

8 0.246 1.326 2.026 % mu2

9 0.172 0.465 0.546% sigmal

10 0.104 0.196 0.272% sigma?2

11 0.5 0.5 0.5]; % r

12 k = 100; % &AL k%
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f =@ (x, y, mul, mu2, sigmal, sigma2, 1)

1/(2%pixsigmalxsigma2xsqrt (1-r72)) .=
exp(-1/(2-2xr72).%((x-mul).”2./sigmal.”2 - ..
2%r.x(x-mul) . x(y-mu2)./(sigmalxsigma2) + (y-mu2).” 2./sigma2"2));
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it f(x(1,i), x(2,i), theta(1,1), theta(2,1), theta(3,1),
theta(4,1), theta(5,1))
> f(x(1,i), x(2,i), theta(1,2), theta(2,2), ..
theta (3,2), theta(4,2), theta(5,2))
&& f(x(1,i), x(2,i), theta(1,1), theta(2,1), ..
theta (3,1), theta(4,1), theta(5,1))
> f(x(1,i), x(2,i), theta(1,3), theta(2,3), ..
theta (3,3), theta(4,3), theta(5,3))
c(i) = 1;
elseif f(x(1,i), x(2,i), theta(1,2), theta(2,2), theta(3,2), ..
theta (4,2), theta(5,2))
> f(x(1,i), x(2,i), theta(1,3), theta(2,3), ..
theta (3,3), theta(4,3), theta(5,3))

c(i) = 2;
else
c(i) = 3;
end
end
% b
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for j =1 : 3
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45 sl = [0; 0]; % ZHjIRMIAEARD A

16 s2 = [0; O]; % 28 j2KAYFEA [ J5 M

a7 s3 = 0; % )RR o A

48 count = 0; % =55 ZE I FE A9 A 20

49 for i =1 :n

50 if c(i) = j

51 sl = 81 + x(:,1);

52 82 = 82 + x(:,1).72;

53 83 = 83 + x(1,i)*x(2,1);

54 count = count + 1;

55 end

56 end

57 ave = sl./count; % & j I 1A A1 1H

58 var = 1/count.*(s2 - count.xave. 2); % R AN T =

59 cov = 1/count.x(s3 - count.xave(1l,1)xave(2,1)); % ...
55 KA RE A O

60 cor = cov/sqrt(var(1,1)*xvar(2,1)); % =)0 FEACHY A G 2 2

61 theta (:,j) = [ave(1,1); ave(2,1); sqrt(var(1l,1));
sqrt (var(2,1)); cor]; % 12 45 A (1 8 AL R Al 1F

62 end

63 end
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67 countl = 1;

6s count2 = 1;

69 countd = 1;

70 for i =1 : n

71 if c(i) =1

72 x1(:, countl) = x(:, 1);

73 countl = countl + 1;

74 elseif c(i) = 2

75 x2(:, count2) = x(:, 1);

76 count2 = count2 + 1;

77 else

78 x3(:, countld) = x(:, 1);

79 countd = count3d + 1;
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end
end
scatter (x1(1, :), x1(2, :));
hold on;
scatter (x2(1, :), x2(2, :));
hold on;
scatter (x3(1, :), x3(2, :));
xlabel ('L K "),
ylabel (' {6 98 F% ') ;
legend ('S 2", "BEHGE",

grid on;
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right = 0;
for i =1 : 50
if c(i) =1

right = right + 1;
end
end
for i = 51 : 100
if c(i) = 2
right = right + 1;

end
end
for i = 101 : 150
if c(i) =3
right = right + 1;
end
end
right /150
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3 data = xlsread('/Iris.csv');

4 x = data(:, 2)"'; % 1%k BEE

5 n o= size(x, 2); % &

6 ¢ =ones(l ,n); % 7, 1« /xsetosa, 2« ~versicolor, 35/~ virginica

7 theta = [5.006 5.936 6.588 % mu

8 0.349 0.511 0.629]; % sigma
o k = 100; % IEAC K HE

10

u W IE A 5y A I B R A

12

13 f =@ (x, mu, sigma) 1/(sqrt(2xpi)=*sigma)=*exp(-(x-mu) " 2/(2+sigma”2));
14

15 9% EME 2K

16

17 for 1 =1 : k

18

19 % %

o Y% MR B ko1 K E G B B theta, Xx(i) AT 4K

21

22 for i =1 n

23 if f(x(i),theta(l,1),theta(2,1)) > ..
f(x(i),theta(1,2),theta(2,2))

24 && f(x(i),theta(l,1),theta(2,1)) > ..

f(x(i),theta(1,3),theta(2,3))

25 c(i) = 1;

26 elseif f(x(i),theta(1,2),theta(2,2)) > ..
f(x(i),theta(1,3),theta(2,3))

27 c(i) = 2;

28 else

29 c(i) = 3;

30 end

31 end

32

33 % b

34 % MU BRR 2 K4 RIHHE S B theta

35

36 for j =1 : 3
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sl = 0; % 55 jIMFEAR R
s2 = 0; % 2 jRMFEANK T J5 A
count = 1; % 2B j KM A A2
for i=1 :n
if c(i) =]
sl = sl + x(i);
s2 = 82 + x(i).72;
count = count + 1;
end
end
ave = sl /count; % i 0UF A1 E
var = 1/count*(s2 - countxave 2); % I AN I 2=
theta (:,j) = [ave; var]; % 1E & 70 A 09 82 K AL R Ak o
end
end
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right = 0;
for i =1 : 50
if c(i) =1
right = right + 1;
end
end
for i = 51 : 100
if c(i) =2
right = right + 1;
end
end
for i = 101 : 150
if ¢(i) = 3
right = right + 1;
end
end

right /150
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